B - 2021/5/3 FHR B
RS EaE ] 2021 FE2la] TRk X rh R e B GRS
R 2 HE A AR AR EEHS LR AT A ]
FAEA R4 e BB e g 44 BrEsmiE L s
A | ®EH 1hz 2fr 3t 4hr 5 6L ht 8hr
i By sA30 | 200m &k &=KE) 24.37 (-3.0)|/Iitth TEK(3) 2479 (-3.0)|FH Z(3) 25.39 (-3.5)|#{ff ZMH(3) 25.43 (-3.0)| Rk ELQ) 2552 (-3.0)|3# EH(Q) 2553 (-3.0)|KF [B4£((3) 25.60 (-2.6)| LI 1EM(2) 25.65 (-3.5)
FHEE-FE—P TR|WIE - LHEG +BHET-FEH FFEE- AP - EES EiR RS e BB - FHEE-KEFH
530 | 400m ik BLOQ 55.28| BT &R EHR(3) 57.30| &)1l #E#Q3) 57.46| =15 WEIX(3) 57.57 (A RAEHQ) 57.62|=18 #A@Q) 58.52|=E #AE(2) 59.33| =L 1BFi(2) 59.44
;E AR TR| ¥k - FEES BaP - g AR-ARIF BaM - g fAM - g faM - & AR AR
5A38 | 800m }|AR FTH®Q) 2124140 B@2) 2:1957| 2% 1FHEQ) 2:20.75|% & #(2) 2:21.71iEH EFENQ) 2:23.06|7K8 E(3) 2:23.88(iE® #HKEQ) 2:2500| B HFiR3) 2:26.63
BaM - thgh #-HED INFBINFB ER-ARH [ % % - KR o EiR S e INFRNTF BT FHEE-KEFH
538 | 1500m RE MREQR) 4:26.60|1L1/F EAHER(3) 4:34.25|#fH KHIQ) 4:3457|HeE JHFNQ) 4:36.98| I ABA(3) 4:37.84| 2% 5FE(3) 4:39.11|h 8 FHEAHOR) 4:39.30| %A E(2) 4:4554
Rt-dasp TR|# M- 25T INFBNFAG Rk INFBINFARS INFBNTFAS INFBNTFBG AR-ARH
538 | 3000m RE REEQ) 9:39.68( WA ABA(3) 9:49.35|h ¥ FEABAR) 9:49.43(#HE KHEIQ) 10:01.52|3L)Il BrzH©2) 10:05.15|5AH &%) 10:09.05|KE& HEFI(3) 10:11.04| 3Ll fE4(3) 10:21.26
Bt TR|/NF&B-INF & INFB - INFB INFRNTFBG a3 RE S INFBRNTF B R - Ak HFEE-FE—P
530 | 1iom #|MAR FKQ) 18.84 (-2.9)| AL $AFR(3) 19.25 (-2.9)| =% 1&F(3) 19.64 (-2.9)[sh & HABE3) 19.75 (-2.9)|#ikE  Ath(3) 20.14 (-2.9)|i5i% 1&4£(2) 20.21 (-2.5)|E15 #E(@3) 2021 (-2.9)|XE ZE(3) 20.33 (-2.9)
FRA-KEFP B FFEE - MA)h EE- AN S FHEM-EQARF FFEA-F—F i R N B - g
M- Lt 4560| ERPEFA 46.72([ B % RHEPA 46.97|FHFEA-F—hA 47.03(faMN - P EHA 47.03| 878 KfizhA 47.06|#FHFEE - A AL FA 4758 /INF B - INFABA 4773
B #BAEQ) #]/A FEE®R) B BREE@) NEFF EEOQ) AL #HIRE) BE 0G) B2E THO) HA BEQ)
530 | 4x100mR [{FfE %E(3) R Bt BG) R WF BER) R ki EKR0) R #|A Q) R INFR ZEHE(2) R EE BLOQ) TS HEREQ)
BH BHEE) O rAE&s) Bl KZE(3) p/\ &N E)) A £O) EHH EAQ) IR Z0H(3) R EEQ)
E E1LB) EH REEQR) it EK(3) 2R 7LQ) WH REEO) I 2HR) WE DFQ) ARE Q)
KIF M2 1.50[E&JII %L(3) 1.45 Nk ERQ) 1.45|&F FRAERR) 145|HA BAQ) 1.45[/hBE B h(3) 1.35|483#% AA%(2) 1.35
sAsh | Em FFEMA- AN R FFEE-AA T FFEE AR [ % 85 - T B ch iR K iR -FES #e-HHAH
Rt fEIR2) 1.45
FFEE- AT
SA3H | ek FIE HKE) 240
INFBNTFRG
sA3H | AiEs g 124 (2) w6.12 (+3.6)| A% 21E(3) 5.83 (+2.0)[;=#% BHEREQ) 583 (+1.2)|@H Q) 5.67 (+0.7)| &R BE®Q) w5.58 (+3.0)| B3 #KERQ3) 5.55 (+0.5)| 85K #IF(3) w5.33 (+2.7)|luO HLK(E3) 5.19 (+0.6)
FEE-KREFFH [ 8- R HE P TR|ER-HERH TR|#ri5- Kiz INFBNTFAS FFEE-2HG BB - AR-ARISp
sAsE | f RHFH FHiHEO) 10.62| % £(3) 9.39|KER HEBN(3) 9.12)/M kAN (3) 8.55| K K—(3) 847w xT 1&KE@3) 825|B 5 Q) 8.24|th ¥ EEHE(3) 8.04
ik s R e N TR|ER-ARF R -FidkkP iR KRz M -EL ARG iR -FESD B ARALp FFEE - AA T
shsn | mae R EBI) 30.85| K+ K—(3) 29.95/ i1 B5TA)(2) 29.88| KBk £(3) 2157|&% HF/Q) 26.88|3#E fEA(2) 23.00(HEFidE HAQ) 20.20
AR -FEkG HFEE-£42 K FFEE-EL KR HER-ARH FFEE R R - Ak FFEE-FE—p
sAsh | s HH KHEQ) 1557| &t [Br(2) 1019|E#8 F£2) 960
i FiES dt5E-EgES Jt5E-EegEh
530 [ 110mH 19.42 (-2.5) 21.69 (-2.5) 22.57 (-2.5)
5A3A | fatie 7.53 7.10 8.80
530 | Ambk 1.45 1.30 1.30
530 [ 400m 58.39 1:06.17 1:10.81
Vs T sAsi | 100m R =) 13.63 (-3.4)| &&w #AX(1) 1410 (-1.6)[E+id KZE() 14.25 (-1.7)|55% B&Q1) 14.36 (-3.1)[E1 #(1) 1441 C3)[KEH $EQ) 14.66 (-3.4)|[FE HIAXQ1) 14.75 ((1.D[HET (1) 14.78 (-1.6)
EiE RS HER-ARH [ % 8- RHE A HER-EREF AR-ARF FEE- AP FIE - R g M- AAF
sA36 | 1500m FATER #LE&(1) 5:09.22|FF+ #MIARG1) 5:13.09(33# #A®1) 5:20.52| TR Ehi(1) 5:21.38/ KL% HE(1) 5:25.93|%5 % WA 5:36.95|1k HZ=(1) 5:40.61[sh#t KH#E(1) 5:51.25
FEE - AALF HER-BARIF AR-ARH B KA FFEE - AAL T AR -BRILF B ARALp FFEE - AAL T
shsn | e AY S 7 NQ)) 412 (+2.0)[/NS A#E(D) w397 (+4.3)[#&IL F|ZE(1) 3.49 (+1.3)[WAKT 4=(1) w3.33 (+2.1)| KHT FZ(1) 3.07 (+2.0)|HEH BrR(1) 3.06 (+1.5)| &R BEEAQ) 2.86 (+2.0)|R& I #E(1) 2.81 (+1.2)
FHRE-KREFH k- K FFE- R & 7 - RE S k- K H FFEMA- kLK FFEE-KEFH FRE-KEFH
=R BQ) 12,02 (-2.8)| @t HEKR(2) 12.63 (-2.8)|£H KE(2) 12.70 (-1.4) ZiR 7L2(2) 1281 (-2.8)|&F XH(2) 12.89 (-1.4)|E€ K22 12.89 (-2.8)|FHE EAQ) 12.92 (-2.8)
SEH T 538 | 1oom [ % B - KR e TR2| H R - A keh FHEMA QRS HHEM-E—h +BH @S faM - & Hih- KfH
E+E BEFOQ 12.70 (-2.8)
[ % %5 - KR o
- sAsa | 100m £ £KREQ) 11.99 (-3.8)|BH HFEQ) 12.12 (-3.8)[#1F@ Z0t(3) 12.20 (-3.8)|/hvith @K (3) 1227 (-3.9)|EH 1HREEQ) 12.32 (-3.8)|#5K BEEQ) 12.36 (-3.8)|3LF EH(3) 12.58 (-3.8)|1F#% 28(3) 12.58 (-3.9)
HFEA-FE—h HEE- ZiHT FFEE - AAL T FA 8 B - REH AR-ARH HER-ARH iR KRz HFEE EiHt
L2 T sAsH | M K+ FHiHQ) 27.64|hE EEHE() 2450|F A KHEQ) 23.80
FFEA £ K FFEE-AAF FFE-"ep
vExoon BT | 5838 | 100m K Z=(1) 13.39 (-3.9)| 75k A1) 14.47 (-3.9)
i Kz AR -ARds
stExsen Bt | 5830 | 100m EHH EAQ) 12.69 (-3.7)|/M#k Z21E(2) 12.69 (-3.7)|&F XFHQ) 1273 ((3.7)|E+&E BHQ) 1279 (3.1 =8 HE©) 12.85 (-3.7)[AH E#(2) 12.95 (-3.7)|5E#k Eth(2) 13.00 (-3.7)[;RZE FEAX(Q) 13.06 (-3.7)
EE RS e ik K th +BHET-FEG FFEME-Kh BAA - thgeh FFEE-ANALP hnis - hni & #-HEAD
stpx<orn 55 [ 530 | 100m N K (3) 11.93 (-4.0)| %k BEL(3) 12.21 (-4.0)[F 3 1REEQ) 12.28 (-4.0)|[#5K BEEQ) 12.39 (-4.0)[iL4f EH3) 12.46 (-4.0)[ @R #Q3) 12.58 (-4.0)[4BK #£(3) 12.61 (-4.0)[#23F R#H3) 12.62 (-4.0)
Fa % B - R EH A FHEM- AN G AR-ARH AER-ARH b RS i iR Kz faM- & B -

w (wind assist) : IBE\S#%& TR @EHE

08k TR2:@EI{E25E5%




A B 2021/5/3 FHR B
RS EaE ] 2021 FE2la] TRk X rh R e B GRS
R 2 HE A AR AR EEHS LR AT A ]
FAEA R4 e BB e g 44 BrEsmiE L s
A | ®EH 1hz PADA 3t 4hr 5 6L ht 8hr
s et sasn | 200m E EDQ2) 26.37 (-3.5)| B2 RHQ2) 28.56 (-3.5)| &+ HHEQ) 28.60 (-3.5)|&H 1&7E(2) 29.71 (-3.5)| Mk E(2) 30.14 (-3.5)|5H HE(2) 30.14 (-3.5)| %k EKQ) 30.15 (=3.4)| LUl 10MR(Q2) 30.16 (-4.4)
#-EEP TR|E R - ##dkkh EE RS +BHE-EH FFEE-FE—F FEE- AP FHEE-RIBP FHEE-KEFH
5H30 | 800m EH &HF2) 2:30.15|#84 FMH(3) 2:30.78| K1 F1H(3) 2:31.67(FB KEH©2) 2:31.92| %2 [BH(©2) 2:3331[iEER FBQ) 2:35.26|E8 IELQ) 2:37.47|[ 88 #EQ) 2.39.04
INFB-INFBRF - HAS +BEr-Ed +BHE-FEs #e-HAG b= R e g N B EBH +BHE-Eg
5A38 | 1500m B/AR M) 5:02.88|FEEF &F(2) 5:06.00| &R K&H(2) 5:06.45(;%:2 FH5Q) 5:21.42| KiF #1H(Q3) 5:25.43| Ki% HFI(3) 5:27.19|BAIER R (2) 5:2754|7%& #(2) 5:30.11
#-SEP TR|/NF&B - INF & TR|+BE-FEH TR|FFMA k<A +B&r-fEt +BHE-ES +BE @S AR-ARds
sA36 | 100mH M kEQ) 16.73 (-4.0)| A% FZ(3) 18.42 (-4.0)[JIIFF /N THiE(2) 18.54 (-4.0)| Bl FE(3) 18.93 (-4.0)[#E () 19.33 (-1.7)| &% #EK@3) 19.41 (-1.7)|BE8 2 3(3) 19.66 (-4.0)[EFiF #53(3) 20.16 (-1.7)
INFBNFAP TR| B - R - HHAS db3e- EBEE FHEMA - IRIEH iR Kz ;B -FER HHEM-F—h
#He-FHPA 51.78|+ BET-FEh 52.73|#8 - KFehA 52.86/NF A - INFAH 53.66(#TFEMA - AAFA 53.92| B R - FHakkeh 54.62| [ & 5 - KEPA 55.00|dL 3% - EEFEhA 56.15
HmER FIRE) RKE APUQ) Al BEEREQ) = BRI I <BH2) ER HAQR) A BE®2 BTER MR 5(3)
5H3A | 4x100mR |f:E EiD(2) TR§E| 1&1E(2) TR &H BIEQ) TR MokEQ2) TR &N BER HE ENQ fnmE HEF(3) Al EEE)
FE HERQ) EE BIE) NG FHIEQ) ¥ HEQ) Bl HE) Hig EEQ) Kig E#(3) XEH REQ)
=5 DEE) BH FKEO) A BRE®) B #522(2) HH HEQ) KIE BilN2) g BRQ) BES BIKRE)
BO ME®R) 1.35| K& E#Q) 1.35|% % IWHEQ) 1.30[ 1% NTHEEQ) 1.30( R EF #1Z2(2) 1.25(#2% Z1EQ) 1.20 NG HFi(2) 1.20
o | T EETAR R B2 85 - KR e #e-HAS #-HEAD FFEE-RIEH HRE-RIED FFEE-Rep
5H3H | AEmbk
RH #32) 1.20
INFBH-INFBF
5A3H | ek AN Q) 2.40
FFEE - EIED
sAsH | em SH FKEA) w511 (+4.1)| 5% HAQ2) w4.88 (+3.1)|B8 BAE@3) w4.88 (+3.4)|%EkE E () w446 (+5.1)|iERE BZREQ) w446 (+2.8)5 IO BHER3) w4.36 (+4.4)iEER BA(3) 420 (H1.2)[8K KREQ) wa.12 (+2.9)
+BHEr-mH INFB-INTFAS FEE-KEFH FHEE-F—P B2 %5 - KR o HER-ARILP db3%- & #-HHESP
shsn | mou g EBxKQ) 841|FEMN EHO) 8.20| KR B7EW®) 7.99| KM TEEQ2) 1.32|/hR F(Q) 7.27|EE BHEQ) 7.06|#RE HEB(Q2) 7.00[/HE FEE(2) 6.95
#e-HHAS BaM - Fhgech M- F—h FHEE-KEFH M -EL ARG FEE-RIED #-HEAD FEE-KEFH
sAsH | M gk EXEQ) 18.01(AR 7E&EQ2) 17.75[FR %£503) 16.18[R& I E©) 16.14( K& FE@Q) 15.26| 7T E3(2) 14.32|/M R &(2) 13.89(8EO EHBRE() 13.60
BaM - & FHEE-KEFH BaA - & FEE-RIFE B2 %5 - KR o FEE-Ep FFEB- A2 KP B2 %5 - KR o
sAsh | s wE Re) 2317|hngk 12FI(3) 2066| =15 #RAR(2) 1549 =1L [5F(2) 1541 [JEE8 2(3) 1496 |FIER  BABK(2) 1438|124 ftifE(2) 1434(31)11 <Z#(2) 1328
+BE- R B2 85 - KR e HFE - RIED INFBR MBS HFEE-EIET #e-HEAS db3E-EEgES FFEE-AA T
5430 [ 100mH 15.16 (-2.7) 16.98 (-2.7) 18.15 (-2.7) 18.89 (-2.8) 19.41 (-2.8) 20.26 (-2.8) 18.42 (-2.7) 18.99 (-2.8)
5A3H | AEmbk 1.49 1.43 1.20 1.25 1.25 1.30 1.15 1.15
5A30 | fatie 5.94 8.73 6.96 7.47 7.77 7.54 7.43 6.71
530 [ 200m 28.15 (-3.1) 30.09 (-3.1) 30.74 (-3.1) 30.97 (-5.9) 31.24 (-3.1) 31.57 (-5.9) 31.87 (-5.9) 31.94 (-5.9)
P sAsi | 100m &8 B0 15.23 (-2.9)|R:E BXRQ) 15.32 (-4.2)|BBJR FHEZR(1) 15.64 (-2.9)/MFk HEF(1) 15.68 (-2.9)[;=E#E #H=(1) 15.88 (-3.1)[4BE A1) 15.90 (-3.0)| Il #EQ) 16.00 (-2.9)B #&(1) 16.13 (-3.4)
RS AR-ARISP AR-ARF FaT 2 7 - K IR AR-ARdS R KHH R KHH FHEE-KEFH
sAsA | soom RiE BKRA) 2:33.13|5=%k #M@=0) 2:38.29(88K EF(1) 2:40.31|iE:2 M) 3:06.92|EF FER(A) 3:11.65|AIL EDE(1) 3:13.34| = @A HFi(1) 3:13.96;K 2% TE(1) 3:16.37
AR -ARILF ER-BERIF AR-ARH FHEE-EL Kt ER-ARIP FEE-KEFH FFEE-EL K ER-ARIF
sH3n | smpk KiE H4EQ) w3.32 (+2.5)[HE FER() 3.25 (H1.H)[/NR (1) 3.05 (+2.0)[1EHE HEH(1) w3.02 (+2.5)|BEH FEEW) 2.90 (+2.0)[{£E/E MEE() 2,62 (+1.9)[;AIA 2<Bx1) 253 (+0.8)| =i Fk(1) w2.29 (+2.3)
EiE RS FFEM R FFEMA-EL K FEB- kA2 KP FFEM-EL AR FFEA- A2 KP FFEB- LA KP FFEE R
DELT 5H3H 100m BUE B2 12.92 (-2.3)[ith KE(2) 13.82 (-2.3)|&FB 1&7E(2) 13.87 (-2.3)|3% H1E(2) 1388 (-2.3)| A& &2 13.90 (-2.3)| 2% 1E(2) 14.14 (-2.3)| L& 10NZR(2) 1415 (-2.3)|HHE BE(2) 14.18 (-2.3)
#e-HHAS TR2[/NF& - INFBF +BHET-FEG INFBRNTFBG R -tk AR-ARF FHEE-KEFH FFEE - AAL T
ST sa3n | 100m EH FKEQ) 13.75 (-4.0)|’5%f RAEE(®3) 13.80 (-4.0)[ &) Q) 13.94 (-4.0)|FBE DE®) 1412 (-40[;IO BIHEA) 14.34 (-4.0)|3#REH FiR(3) 14.34 (-4.0)[E HBAEQ) 14.43 (-4.0)[ 25 EXQ) 14.44 (-4.1)
+BHEr-mEH k- K FFEE- AP - EEP ER-ARP #-HAP FFEE-KEFH FFEERIER
vExsentet | 5838 | 10om TiE BRI 1491 (-4.5)| &8 FIEQ) 15.42 (-4.5)[iZHE #@E(1) 15.91 (-4.5)
AR -ARIF ik Kfzeh AR -ARd
stpacs ot | 538 | 100m it R3R(2) 13.85 (-3.6)| 2% 113(2) 14.00 (-3.6)|HH HEE(Q) 14.10 (-3.6)
INFBNFAP AER-ARH FFEE- AP
& BEER) 13.73 (-3.0)|F8& L E@) 14.09 (-3.0);IO HHBQ) 14.14 (-3.0)| AL BEEEQ) 1421 (-3.0)[/NE HELEQ) 14.33 (-3.0)|if Mk EZE(3) 14.48 (-3.0)
ANy VI F | 5H3H 100m
FFEA - AALH #-HES AR -ARAP iR KRz & KHH Fa & B - KR o
Jeima~s ot | 5a38 | 100mH B FEEQ) 18.71 (-3.2)| % #KR(3) 18.94 (-3.2)[#iE Z=1EQ) 19.92 (-3.2)
db35- BBk ik K db3d- e

w (wind assist) : IBE\S#% TR @SB TR2 :@E28508%




